DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 5)

PIVISION WITH -10 1O 10 1;?;1: Score: y—
1) —862 + (—10) = 316) 11624 = 2 =
302 —T70880 =+ 8 = 317 304.64 +4 =
303) —100.34 =2 = 318 3034.5 =5 =
019 —184.96 + (—8) = 319 —h3814 + (—6) =
305 —T725.7+ 3 = 200 88980 + (—10) =

306) —186.24 + 6 =
07 —=T77.07+ (=3) =
05 80620 + (—10) =
) —57211 = (—=7) =
w0 262.3 + (—10) =
w1767 + (—3) =
5120 6977 + (—10) =
13 1549.5 + (—3) =
s —30024 + 9 =

s19) 29200 <+ 3 =

Mathematics: Division - Level 6 - Horizontal - Set 5
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—166.86 = (—2)

1838.4 + (=7)

33540 + 5 =
—771.21 + (=9)
—311.08 =+ (—4)
—241.4+2 =
12177 = (—9)

—5049.1 =+ (=7)
89.74 + 2 =
52380 = (—9)
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